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[ Instruction J

On the OMR Answer Sheet write the Registration No. and write & darken the circle/bubble of Roll No./Course/
Question Booklet Set. No entry / wrong entry of the above will lead to cancellation of papers for which the candidate will be
solely responsible.

Each question has four alternative answers. The candidate has to darken only one circle/bubble on the Answer-Sheet
using black/blue ballpoint pen indicating the correct answer as shown below. 1f more than one answer / option is found
darkened, then the answer will be treated as cancelled.

OMR Answer-Sheets will be preserved for a period of six months only from the date of result publication.

Example : @ O QO

Answer all the questions from the following 1x20 =20

Fafeis smefer avim Tea we

1. The three major living components of an ecosystem are
(A) Producers, Consumers and Decomposers (B) Producers, Decomposers and Autotrophs

(C) Heterotrophs, Consumers and Reducers (D) Detritivores, Phototrophs and Consumers

- ArgecEd oAl & TotwiA =& ,
K T, A @k e (B) Besitnss, Ao @3k ACord
(C) ~roré, WM @k [es (D) Jo&Iq, AENFREATFIAN GR WS
Z Chipko movement started at
(A) Darjeeling of West Bengal (B) Gopeswar Village of Uttarpradesh
(C) Hajaribag of Bihar (D) Raipur of Madhyapradesh
oo SeaieT 9% 27
(A) *If5_0Era RIRFPR - (B SeRemTR (Mo A
(C) Raiez= yefiest (D) NG IR
3. Earth Summit held at Rio De Jeneiro was held in the year o iR
(A) 1988 (B) 1992 (C) 1996 (D) 2000
e W (@A @A ACReT W
(A) 1988 A1 (B 1992 it (C) 1996 7wt (D) 2000 T
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Law 10 combat air politution was rormuiatea in in€ year

(A) 1981 (B) 1952
AR eAfSTary R 2T
(491981 = (B) 1952 A

Examples of Decomposers are

(A) Bacteria and Fungi

(C) Virus

Reares &iga Twizadt =&

(A) 3R e =@IT  (B) FIROILEGA

Chief cold biome of the world is

(A) Tundra (B) Forest
A ooy A4 A
(A) 2=t (B) ST

(C) 1974

(C) 1974 =

(B) Phytoplankton
(D) Zooplankton

(C) ©iZa™

(C) Grassland

(C) eI

Rhinoceros is found in the following place of West Bangal

(A) Sajnekhali (B) Sunderbans
SN “Ne T ARSI

(A) TECRIATS  (B) TARIA

Korbet National Park is situated in

(A) Uttarakhand (B) Madhyapradesh
TG SIS #HIF %S

(l{) TGRS (B) NG&ATAC

(C) Garumara

(C) Haryana

(C) AT

Which of the following is not a source of non-conventional energy?

(A) Sunlight

(B) Geo-Thermal Energy (C) Natural Gas

FafeiReefem g @l Senfe «fea S 73

(A) 3 7

2o

(;z/enqsf‘wmm

Radioactive emission affects living organisms by causing

(A) Genetic Mutation

(C) Growth Arrest

could RiFaa w@ SRoz
(4 CETAE R <5

(C) 3 efféze 2w

(B) Intestinal Disorders

(D) Energy Loss

(B) SifEE caitceTcalet <
(D) *f& 2 w5

(D) 2002

(D) 2002 e

(D) SYRELA

(D) Desert

(D) =&

(D) Jaldapara

(0f wmerer

(D) Rajasthan

(D) AFEA

(D) Tidal Power =~ ——

(D) (&R ©ioE *f&
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(A) 1* October to 7" October (B) 15" October to 21* October

(C) 1*" June to 7" June (D) 15™ June to 21* June

AN AR “fifere T-

(A) ol SCPRE (AT 13 ABRA (B) $¢2 SR ([ > SFA
(C) 5o G (T 42 T (D) 5¢% T (ATF 5 GA '

Lowest layer of atmosphere is called

(A) Thermosphere  (B) Stratosphere (C) Troposphere (D) Mesosphere
AT FH B 25 '
(A) it (B) BB (/Q{ Rl (D) G
Sequence of eating and being eaten in an ecosystem is called
(A) Food web (B) Natural cycle (C) Ecological Pyramid (D) Food chain
AFOE OFF 8 OO AP I
(A) g Erferest (B) &gfos b (C) IrgeTad e 7oHfFs Prafie (D) ww gt
Detritus food chain starts from
(A) Green plants (B) Grass (C) Dead organic matter (D) Phytoplankton
YGEI AW Xl @F 3
(A) 7S Sfe0i (AF (B) UOR Q& (1) 7O 151 #RE (0 (D) FIRBIEGEA (2
Biodiversity means
(A) The living natural resources (B) Land and forest
(C) Oceans and sea (D) Atmosphcre
Gqafba) I0e (@RI
(A) ER® 2415 F7oim (B) ©f¥ '@ Ty
(C) TG 8 5 (D) AN
[.ignite, bituminous and anthracite are different types of e
(A) Nuclear fuel (B) Coal (C) Natural gas (D) Biogas
{91125, fApRMPT @ SRS z& [Rfoq $aas
() “flawefRe G B) e C(C) AR sl (D) S
The loss of water from plants and tree leaves is called
(A) Precipitation (B) Respiration (C) Evaporation (D) Transpiration
(A) &HHTG (B) ¥+ (/) ARSI (D) S
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(40 Pl (B) w95 (C) &= (D) I&hat
Deforestation generally decreases
(A) Rainfall (B) Soil erosion (C) Draught (D) Global warming
SRR ARSI I
(A) IS (B) Sy (C) < (D) Rt B
Chipko movement was started to conserve
(A) Forests (B) Grasslands (C) Deserts (D) Soil ,
15 AN FADR TR ooy o =W
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